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CAD training Exercise 2 Assembly

TPZ . Embase (phase 10 usinée)
Support :machining fixture of the vice base phase 10

Goals :make an assembly composed of rigid and flexible sub-
assemblies

montage modulaire

Procedure :

Checking Options.

- Click onTools->Options

- click onInfrastructure->Product Structure
-click onthe tab et |

Référence du produit -

_ th k th e 4 Saisie clavier

- click onmechanical concept

Générdl | Contraintes |

Mise & jour
@ e iAutomatique | C1 Manuelle

- check the box
- click onokay

Creation of the assembly tree

- click on or. QFile—>New—>product
- name the reference:Assembly_sole_complete
- click onokay

- insert a new product by clicking on téj Or onInsert ->New Product
- click in the construction tree on
- name the reference:Mounting_sole_ ph10

colonne 37_5

The tree structure is enriched with a new branch

i semelle_complet
@Montage_semelle 110 (Montage_semelle_ph10.1)
Applications

e
RAC

- insert a new product by clicking on Or onlInsertion -
> New Product douile 4 con
- click in the construction tree on

- name the reference:Column_50The tree

structure is enriched with a new branch

[‘ﬁj Montage_semelle_ph10 (Montage_semelle_ph10.1)

‘iz'gjcolonn 50 (colonne_50.1)
Applications

- insert a part by clicking on @ Or onInsert ->Existing component

- click in the construction tree on

- choose the filecolumn 25in the directorymounting elementfrom the directorytp2The
tree structure is enriched with a new branch
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CAD training Exercise 2 Assembly

%J montage_semelle_complet
@ Montage_semele_ph10 (Montage_semele_ph10.1}
:-@ colonne_50 {colonne_S0, 1)
#‘@ 2116 006 015 {2116 006 015.1)
A pplications

duplicate column of 25

- double click on the “#lcdome 50 coore 50.1) i the specification tree
branch should turn blue

i
- select branch #‘@2116006015 (2115 005 015.1)

- right click and choose copy

- select branch @ colonne_50 {colonne_50.1)

- right click and choose paste

- move one of the two columns using the compass

- constrain the two columns to obtain the following set:
B | montage_semele_complet
=&, | TS _ph10 (m
I—@ colonne_50 (colonne_50. 1)
@2116 008 015 (2116 005 015.1)
#-377115 008 015
$512116 005 015 (2116 006 015.2)
#-377118 006 015

=[] Confraintes
?ﬁ Coincidence,1 (2116 006 015,1,2118 006 015.2)
@ Contact surfacique. 2 (2116 006 015,1,2116 006 015.2)
—Applications

duplicate column assembly_50

- double click on the §Montage semele_phi0 (ontage_semele_h10.1) i the specification tree
branch should turn blue

- select branch @ colonne_S0 (colonne_50.1)

- right click and choose copy

- select branch C?Q]Montage_semellephlo Montage_semele_ph10, 1)

- right click and choose paste

- move one of the two columns using the compass

Inserting the plate

- double click on the §Montage semele_phi0 (ontage_semele_ph10.1) i the specification tree
branch should turn blue

- insert a part by clicking on @ Or onlInsert ->Existing component

- click in the construction tree on S vontage_semele_ph10 (Mortage_semelle_ph10.1)

- choose the fileplate_200x200in the directorymounting elementfrom the directorytp2The
tree structure is enriched with a new branch

- put a fixity constraint on the plate

- constrain the columns by 50 as in the previous figure (note

%jMontage_semelle _ph10 (Montage_semele_ph10.1) must be blue) colonne 12.5
eolonne 25

creation of the columns of 37.5
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CAD training Exercise 2 Assembly

- create in assembly  $lMentage_semele_ph10 (ontage_semele pni0.1) g assembly for 37.5 columns
(follow the same procedure as for the columns of 50) The
tree structure is enriched with new branches
?3] montage_semelle_complet
a:Whnontage_semele_ph10 (montage_semele_ph10.1)
ngcolonne 50 {colorne_50.1)
*'ngcolonne_SO {colonne_50.2)
*‘@plaque 200 x 200 {plaque 200 x 200, 1)
colonne_37_5 (colonne_37_5.1)
f‘@ 2116 005 015 {2116 006 015,1)
r@ 2116 008 016 (2116 006 016.1)
i—ﬁi Contraintes
C@colonne_S?_S {colonne_37_5.2)
i—ﬁ] Contraintes
—Applicatons

_ Complete assembly %jl\i?ntage_semellephlo (Montage_semele_ph10.1) with :
- threaded rods
- the upper centering sleeve
- the lifter (the assembly is stored in the lifter directory)

- put a parallelism constraint between face A and face B by clicking on

£

Inserting the raw base

- insert the raw base by clicking on @“ Or onInsert ->Existing component
- click in the construction tree on p:Jprontage_semele_comple
- choose the fileraw basein the directorytp2

contact linéique avec la face B

- constrain the base on the assembly, respecting the conditions indicated in the previous figures.
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CAD training Exercise 2 Assembly

To create a constraint of the type: line contact, click on You B and choose the direction | 8 =teme 7]
obtain the following tree structure and assembly:

C@colonmejo (colonne_50.1)

rﬂgj colonne_50 (colorne_50.2)

Y@ plague 200 x 200 (plaque 200 x 200.1)
ﬁgjcolonnej?_s {colonne_37_5.1)

4 ﬁgjcolonnej?_s (colorne_37_5.2)
@Tlge fletée M5 100 (Tige fletée ME 100.1)
@‘I’lge fletée M5 100 (Tige fletée ME 100.2)
Cigjpalonmer (palonnier. 1)

*"C@ douille de centrage haute (douile de centrage haute. 1)
#"% Contraintes

r@@embase brute (embase brute. 1)

k-% Contraintes

—Applications

- hide the raw base and the ph10 sole assembly

- - insert a new product by clicking on or g@nsert ->New Product

- click in the construction tree on fplvontage_semele_ph10 (ortage_semele_pn10. )
- name the reference:clamping

|
_complete assembly % oidage Cridage.2) ey
- the bridle
- the nut
- and the washer

L miees .
- double click on the  T®bridsge ®idage.2) i the specification tree
branch should turn blue

Burface A

Burface B

Contact annulaira

avac la surface A

Coincidence awaec
la surfaca B

- constrain the nut, the washer and the flange respecting the two conditions indicated in the previous figure.
To create a constraint of the type: annular contact, click on &

- double click on the fMontage_semele_phi0 Mortage semele_pn10.1) iy the specification tree
branch should turn blue
- duplicate the bridle

L |
assembly flexibility $- % oridage (ridage.2)

s Gt
. . g i ; i i : a__ Flexible/rigide
- right click on $-9loridage Grcdage.2) 1y og, | OLISEDAdagE (1) o s FlEXDIEID

- make the second bridle flexible
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Exercise 2 Assembly

CAD training

constrain the restraints by respecting the two conditions indicated in the following figure.

Coincidence with the
cylinder A

External line contact
with cylinder A

HAS

- double click on the %/ IEEFEIEEEEEE in the specification tree

branch should turn blue

constrain the restraints in accordance with the conditions indicated in the following figure.

N Contact stress between the
F‘ 4« underside of the flange and

the vice

Constraint of distance between
the end of the flange and the
inner face of the sole
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CAD training Exercise 2 Assembly

\%)] norkage_semelle_complet

@'@ montage_semelle_phld {montage_semelle_ph10,1)
ﬁ'@ colonne_50 {colonne_50.1)
T“@ZIIE‘ 006 015 (2116 006 015,1)
?-‘@2115 006 015 (2116 006 015.2)
= Conktrainkes
¢ Coincidence.1 (2116 006 015.1,2116 005 015.2)
[ﬁf Contact surfacique.? (2116 006 015,1,2116 006 015,2)
f‘% colonne_50 {colonne_50.2)
f" plaque 200 x 200 (plaque 200 x 200,1)
i‘@ colonne_37_5 (colonne_37_5.1)
?—%zue 006 015 (2116 006 015.1)
T‘ 2116006 016 (2116 006 016,1)
- Cantrainkes
é Coincidence. 1 (2116 006 016.1,2116 006 015,1)
[f,‘EE:'CDnI:act surfacique.2 (2116 006 015.1,2116 006 016.1)
i‘@ colonne_537_5 (colonne_37_5.2)

Tige Filetée M& 100 (Tige Filekée M 100.1)
Tige filetée M& 100 (Tige filekée M6 100.2)

Lo
T"@ palonnier {palonnier. 1)
s

p—

=,

douille de centrage haute (douille de centrage hauke, 1)
bridage (bridage. 1)

- By bride (brid. 1)

?‘%ecmu (ecrou.1)

T- rondelle (rondelle, 1)

= []] Contraintes
[ﬁ:‘ Contact surfacique. 1.1 {rondelle, 1,bride. 1)
'ﬁ Contact annulaire, 2.1 {ecrou. 1, rondelle. 1)

1?@ bridage {(bridage. 2}

F‘E:[ Conkraintes

T“@ embase brute {embase bruke. 1)

ﬁ"ﬁ] Zontrainkes

B 'ﬁ Contact ingigue. 1 {embase brute, 1,douille de centrage haute. 1)
— '}ﬁ Caontact ingique. 2 (embase brute, 1,colonne_S0.2)

-

= 'ﬁ Contact lingique. 3 {embase brute.1,colonne_50.1)
—[ﬁ' Contact surfacique. 4 (embase brute, 1,colonne_37_5.1)
—[ff:' Contact surfacique. 9 (bride, 1, embase brute, 1)

—;ﬁ Décalage. 10 (bride. 1, embase brute. 1)

—[ﬁ' Contact surfacique. 11 (bride. 1,embase bruke, 1)

—;ﬁ Décalage. 12 (bride. 1,embase brute. 1)

—applications

e
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